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4 KE AR
(1) (R HRALE K

Ia H | Ehy | (e 44 H A 7H 8 H 9H 104 114 12H 15 2H 3H
[ IMH — SHI9OH [6HI6H | 7H6H | 8H4H | 9HIH [I0H6H [I1HI0 — — — —
i o B H - 6JJ10H [ 6300 [ 7H30H [ 8H31H [9JJ30H J10H29H]11JJ30H - - - —
IKEAL VS 5.8~8.6 - 7.6 8.1 7.7 7.7 8.0 8.0 8.1 — - - -
BOD mg/1 60 - 1 0 0 0 0 0 0 - - — =
COD mg/1 = - 7 3 3 3 3 3 3 - - - -
SS mg/1 60 - 23 0 4 2 11 1 2 - - - -
DER me/] — — 4,25 7 _ 3.33 2.68 2.07 2.41 3.03 — — — —
A H - - 6H17H - - - - — - - - -
Fo LU H — — 7TH16H - - - - — - - - -
BRIV LR OZDOLEY] meg/l | 0.03 — - <0.003 - - - - — = = = =
T AEED) mg/1 1 - - <0.05 - - - - - = = = =
gL Ew mg/1 1 = = <0.1 = = = = = = — — —
MR OZFDILED) mg/1 0.1 - - <0.005 - - - = = = = = =
Miiza MEEW mg/1 0.5 - - <0.02 - - - — = = = = —
WEE OZDILED mg/1 0.1 — — <0.005 - — — — — — — — —
ABEROT VI APEOMOKGUEEM]  mg/] 0.005 — — <0.0005 - - - - - — — — —
TV KRG E ) mg/l |miisnmncy - - g - - - - - - - - -
HRVELE 7 ==L mg/1 | 0.003 - - <0.0005 - - - - = = = — —
SVEEES A mg/1 0.1 - - <0.0005 - - - - - - - - -
STt mg/1 0.1 - - <0.0005 - - - - - — = = =
T Iuuity mg/1 0.2 — - <0.0005 - - - - — = = = =
[EERIAES mg/l | 0.02 - - <0.0005 - - - - - - - - -
1,2-y/noxly mg/l | 0.04 - - <0.0005 = = = = - - - - -
L1-vapxsfl v mg/1 1 - = <0.0005 - - - - - - - - -
Y A-1,2- /auxgLy mg/1 0.4 — — <0.0005 = = - = - — = = —
1,1,1-FJoazdy mg/1 3 — - <0.0005 - = = = = — — - —
INWENVEEEY P mg/l | 0.06 — - <0.0005 - - - — — = = = =
1,3y 7ap7uny mg/] 0.02 - - <0.0005 - - - - - - - - -
FIT A mg/l | 0.06 — - <0.006 - - - - - = = = =
D mg/1 | 0.03 — - <0.003 - - - - — = = = =
FA TV T mg/1 0.2 - - <0.0006 - - - - — = = = =
NP mg/1 0.1 - - <0.0005 - - - — — = = = =
L KOO eY) | me/l [ 0.1 - - <0.001 - - - - - - - - -
io%&(}%aﬂf\% mg/1 50 - - 0.31 - - - - - - - - -
SEZXROLOEY | me/l 15 - - 0.17 - - - - - - - - -
LA4-A XY mg/1 0.5 — - <0.005 - - - - — = = = =
7=/ — )V meg/1 5 - - <0.5 - — - - - - - - -
M O O 5D mg/1 3 - - <0.02 - - - - - - - - -
T OO AT | ma/l 2 - - <0.01 - - - - - - - - -
BB OO GRS | mg/1 10 - — <0.02 — - - - - — = = =
~ B R OEDLE (i) | me/l 10 - - <0.01 - - - - - — — —
78 LM OZDEY | mg/l 2 — - <0.02 - - - — = = = = —
TURST R, TSR ORI R A R me, 1 200 - - 2.6 - - = — — — — — —
LVt A Y me/l 5 - - <1 - - - — — — — - -
BEALH - - 6 HI17H - - - - - — - - -
i R B — - 7TH16H - - - - - - - - -
B AFZX U HE [oe-TEQ/L] 10 0.000033 - - - - -
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(2) K ()

TE H | A N A A A 74 8 H 94 10H 11H 124 1H 2H 3H

P H AH20H [PHIOH [6HI6H [ 7H6H | SH4H [ OHIH JI0H6H [I1IHI0OH - - - -

i o By 4H20H [ 6H10H |6 H30H [ 7H30H [8H31H [ 9H30H [10H29H[11H30H - - - -

| EREER | mS/m [ - 4.7 2.4 2.1 5.4 2.2 2.6 2.2 3.8 — = = =
[ HHH - — 6H17H - - - = - - - - =
i A U H - - 7H16H - = = = - - - - =

7 )L )L K ER me/l |misnzoce — — A HY — — — — — — — — —
KR mg/l | 0.0005 — — <0.0005 - = — — — — — - =

HRIT L mg/l | 0.003 — — <0.0003 - = — — — = - - —

o mg/I 0.01 - — <0.001 — — — — — - — - —

AN AT mg/] 0.05 — — <0.005 — — — — — - — — —

i mg/] 0.01 — — <0.001 — — — — — = — - —

BTV mg/] |mitshmoce - - A kg H — — — — — — — — —

RV T =)L meg/] | msnmozs — — e — _ _ — — _ _ — —
NEES mg/l | 0.01 - - <0.0005 - = — — — = - - —
S mg/l | 0.01 — — <0.0005 - = — — = = - - -
D=y % mg/1 [ 0.02 - — <0.0005 - = — — = — - - -
RERAres mg/l [ 0.002 - - <0.0002 - = — — — — - - -
1,2=/anIhy mg/l | 0.004 - - <0.0004 = — - — — = — - -

1,1 /auxFLy mg/1 0.1 - - <0.0005 — — — — — — — — —

L2y pensly (AR Or AEoasm | me/l 0.04 — — <0.0005 - - — — — — — — _
1,1,1-N)Joazsy mg/1 1 - - <0.0005 - = — — — = - - -
1,1,2-F/unzdy, mg/1 [ 0.006 - — <0.0005 - = — — = — - - -
1,3—v7an7u~"y mg/l | 0.002 — — <0.0002 - = — — — — - — -
FUZ L mg/1 | 0.006 - - <0.0006 = — - — — = — - -
S~ mg/l [ 0.003 — — <0.0003 - = — — — — — - -

FA TN T mg/l | 0.02 - - <0.0006 - = — — — = - - -

~ P mg/l | 0.01 - - <0.0005 - = — — — = - - -

Az mg/1 [ 0.01 - — <0.001 - = — — = — - - —
LA-AxH mg/l [ 0.05 - - <0.005 - = — — = — - - —

[ = F/)~— me/l | 0.002 - - 0.0002 - = — - = — = — —
2 e - - [6JI7H - - _ _ - - - - -

i o s H — - 7TH16H - - - - — = — — =

% [pe-TEQ/L] 1 - - 0.13 - - — — — — — - -
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(3) HuF7K (Fit)

Ia H | Ehr | EEE(E H A A 7H 8 H 9H 10H 114 124 14 2 H 3H

DRI H IH20H [SHIOH[6HI6H] 7H6H [ 8H4H [ 9HTH JI0H6HJITHI0 - - = -

it e Ry H 4H20H | 6H10H [6H30H | 7H30H [8H31H [9H30H [10H29H[11H30 - - - =
RS [ mS/m [ — 5.5 4.5 8 5.8 4.4 4.2 3.3 3.5 = = - -
TEEL - - 6HI7TH - - - - - - - - -

it A< X H - - TH16H - - - - = — — = -

7 L )L KER mg/] |misnaoce — — Z(*ﬁﬂj — — — _ — — — — —
KK ER mg/1 | 0.0005 - - <0.0005 - - - - - - - = =
FHRI A mg/l | 0.003 - - <0.0003 - - - - - - - - -

#h mg/l | 0.01 - - <0.001 - = — - - - - - -

TN A=A mg/l | 0.05 - - <0.005 - = — - - - - = -

fitt = mg/l | 0.01 - - <0.001 - — — - - - - - -
BT mg/1 | mishmce — — N — — — — — — — — —
R T =)L mg/l |misnmoce — _ T~ f — — — — — — — — —
NVAEEES A% mg/l | 0.01 - - <0.0005 - = — - — - - - =
VASZLEEES A0 mg/l | 0.01 - - <0.0005 - = - - - - - - -
VA=Y mg/l | 0.02 - - <0.0005 - = — — - - - - -
ERArES mg/l | 0.002 - - <0.0002 - = — - - - - - -
1,2- /unxfy mg/1 | 0.004 - - <0.0004 - - - - - - - - -
1,1-vJupxFl v mg/1 0.1 - - <0.0005 - - - - - - - - -
L2y punzly Ak or 2 oai®]  me/l 0.04 — — <0.0005 — — — — — — — — —
1,1,1-Faazly mg/1 1 - - <0.0005 - — — - - - - - =
1,1,2-FNyunzly mg/l | 0.006 - - <0.0005 = = - - - - - = -
1,3-y7na7 o~y mg/l | 0.002 - - <0.0002 - = — - - - - = -
FUZ L mg/l | 0.006 - - <0.0006 - = — - - - - - -
v mg/l | 0.003 - - <0.0003 - - - - - - - = -
TA TN T mg/1 0.02 - — <0.0006 — — — - - - - - -
N mg/1 0.01 - - <0.0005 - - — — = _ Z — =

g mg/| 0.01 - - <0.001 - — — — — _ _ — —
1L4-CAX Y mg/l | 0.05 - - <0.005 - - — — ~ - - - -
HItE= A F)~— me/1 | 0.002 — — <0,0002 — = = — - — - - -
TRIX - - 6A17H = = — = = = = = =

i A U H - - 7TH16H - - - - = — — = -
FAFF A e TEQL] - - 0.039 - - - - - - - - -




